Al & O & A & Al A
20095 = = 0ilah LeES|
2N E2WEN
M CRUSUHS(+SLNE/E2)
el [VNNANNLE 25 (S92
SA-ZH - S2A(3AH) - MEAME - HES Ofl &F 94 %Egﬁ Hns2
C2nsH 227,837,034 183,332,750 44,504,284
= 900,000
z 90,595,000
= 6.119,393
= 130,222,641
CRUSUHE(+SLUE/ER) 208,603,400 167,219,949 41,383,451
2 89,595,000
= 119,008,400
EPINEPNE= 91,630,000 83,000,000 8,630,000
z 79,100,000
= 12,530,000
2O E 2T (2D) 89,300,000 81,000,000 8,300,000
z 79,100,000
= 10,200,000
401 AlEHIZ 20 89,300,000 81,000,000 8,300,000
2 79,100,000
< 10,200,000
01 A&l 86,575,000 78,177,000 8,398,000
OANEZAL & 22X 7L (69 4) 76,375,000
2 76,375,000
OZX, XN&2 % JetEaey 10,200,000
02 Zeldl 2,535,000 2,663,000 /128,000
O3 A2l 2,535,000
2 2,535,000
03 A&l 190,000 160,000 30.000
O3 AL 190,000
2 190,000
2K N A8y 300,000 0 300,000
401 Al&HI LR 300,000 0 300,000
01 Al&H] 300,000 0 300,000
O=2XEeeEH ASBTE SN 300,000
QIAET T2AIY =T 2,030,000 2,000,000 30,000
207 AN 30,000 0 30,000
01 SPEAH| 30,000 0 30.000
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SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
O0IANEHYE Sdig XJgo 3 30,000
402 DI2THE0H 2,000,000 2,000,000 0
01 QI2X=2EX 2,000,000 2,000,000 0
OL0INESAN2AEETZ ESds 22 BH 2,000,000
N &5 116,973,400 82,519,949 34,453,451
P 10,495,000
== 106,478,400
Neteete| & JHE A K& 603,400 585,497 17,9083
101 1A H| 43,200 43,202 A2
10 JIZHZ22XANSES 43,200 43,202 N2
OXNYE NS A 1A 43,200
201 Y2yl 52,000 32,835 19,165
01 ArR2t2|bl 52,000 32,835 19,165
OU/E T2 [ 20,000
O=RE8 MEE 17,000
OnNEHSA PR 2Y 10,000
OH&I|E dHXNI2S 29 5,000
202 O4H| 8,200 9,460 A 1,260
01 =ZUWdd 8,200 9,460 A 1,260
O=2ZAE L T2NE HRFREY 3,000
oXgEze| A=l 5,200
401 AlEHIZL 204 500,000 500,000 0
01 Al&H| 500,000 500,000 0
OXNLE M=EX 24 500,000
NS =2z 40,000,000 20,000,000 20,000,000
401 AlZHIZLE204Y] 40,000,000 20,000,000 20,000,000
01 Al&H] 35,297,000 15,651,000 19,646,000
OXNYE EIEA 35,297,000
02 Ze2lbl 4,503,000 4,149,000 354,000
oOXge &iLE 4,503,000
03 Al S0ibI 200,000 200,000 0
oOXgs &iLE 200,000




2N S2NEN
H: CRUSYAS(+ESLUE/E2)
©el: XYE &5 (S &)
_ - AT
SN -3 SAGA) - MFAY - B Y O &t o Ol & o8 Hns2
NYE Heee 48 60,000,000 40,000,000 20,000,000
401 Al&€HIL =0 60,000,000 40,000,000 20,000,000
01 Al&H 60,000,000 40,000,000 20,000,000
OXgs =HEA L EHEF 60,000,000
NLe X Fl 1,600,000 1,854,452 254,452
401 AlEHIL =0 1,600,000 1,854,452 254,452
01 Al&H 1,600,000 1,854,452 254,452
OL=28ng Mits 1,300,000
OBENSH T2d X4 300,000
NLE 0I8X orMsty 110,000 710,000 600,000
201 Yer2Hl 30,000 30,000 0
02 FZ=2l 30,000 30,000 0
OXYLE AT obia SRZ 30,000
305 HHa3S 30,000 50,000 £.20,000
01 HHa=S 30,000 50,000 ~.20,000
OXIYTAD olibla3 30,000
401 AZHIL=0 50,000 50,000 0
01 Al&H 50,000 50,000 0
OXgETHelE &X 50,000
SR u S A 14,660,000 19,370,000 A4,710,000
2 10,495,000
= 4,165,000
401 AlEHIL =0 8,330,000 11,508,000 /3,178,000
2 4,165,000
= 4,165,000
01 Al&H 8,312,000 11,481,480 ~3,169,480
OREE2 PZNH 7,278,000
z 3,630,000
= 3,648,000
OWSAL RER N 134,000
z 67,000
= 67,000
o025 72Y N 900,000




2N S2NEN
H: CRUSYAS(+ESLUE/E2)
oo XLE 25 (S &
. _ o HEc
SN -3 S2ARAH) - MFAY - BES O &t o Ol AF o8 Hns2
z 450,000
= 450,000
03 A= 18,000 26,520 18,520
ORIBER2 PZNH 18,000
z 18,000
403 XXISHSAE=0H 6,330,000 7,862,000 A1,532,000
2 6,330,000
01 XXSHI2EE 6,330,000 7,862,000 A 1,532,000
ORIBER2 PZNH 2,165,000
z 2,165,000
OWSAD RER 447,000
z 447,000
oo2olEE7RY WA 3,718,000
z 3,718,000
DEAMHIA SH+SLDE/HELE - SRSIIE) 11,014,849 8,471,386 2,543,463
=2 900,000
2 1,000,000
== 6,119,393
= 2,995,456
HEWSMHIA &4 2,853,800 1,273,300 1,580,500
= 900,000
2 1,000,000
= 953,800
HEWE MblA JHe 113,800 213,300 99,500
201 Yer2 L] 27,000 0 27,000
03 A2 27,000 0 27,000
OTEAMHI A AUSaT AT 27,000
202 Oid| 46,800 53,300 £6,500
01 =uioitl 46,800 53,300 £6,500
OUELE 28 L NYFHIAIY SXl&el 34,800
oW & SXSI S+AL T 12,000
207 PR LH] 40,000 100,000 60,000
01 gy 40,000 100,000 260,000
OXNAuUSHA J2He e 89 40,000
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By DENHA HA(FELDS

B©el HESuUSAHA Y

(|

on

Mo

S FB SR (E) - NRAY - Be S Lo Soe RS2

sws MHEIAXRA(Z) 1,440,000 960,000 480,000
= 900,000
S 540,000

403 AXIEHSXH=01H 1,440,000 960,000 480,000
= 900,000
= 540,000

01 AXISHX=2E X 1,440,000 960,000 480,000
OMaHA =¥ 1,440,000
= 900,000
[ 540,000

SA2SASHSIENDXNALXA(2D) 1,300,000 0 1,300,000
s 1,000,000
S 300,000

403 AXIEHSXH=01H 1,300,000 0 1,300,000
s 1,000,000
= 300,000

01 XNXEHMA=EX 1,300,000 0 1,300,000
OstskisiHEsEx0X HELEXH 1,300,000
[ 1,000,000
S 300,000

hsws MEXZ 8,161,049 7,198,086 962,963
= 6,119,393
S 2,041,656

2==8Hd HEE2H 3,333,312 3,183,312 150,000
= 1,741,656
= 1,591,656

307 gI2tol& 3,333,312 3,183,312 150,000
=2 1,741,656
= 1,591,656

09 22X 3,333,312 3,183,312 150,000
OAIHAZSAE HEXH 3,333,312
= 1,741,656
< 1,591,656

SSAME HEXH 4,827,737 4,014,774 812,963

HT

4,377,737




BA: E2DEN

M. NEMHIA S (ESLUNE/UELS - S FSIIEH
Cel (EDE MEX (cHol mel)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
S3SAY MEX T 450,000
308 XXIEHXMSOIA 4,827,737 4,014,774 812,963
= 4,377,737
== 450,000
01 AXSHHIABEXTZ 4,827,737 4,014,774 812,963
OAMU, sSHEHA 2SAIY HEX S 3,906,584
= 3,906,584
O8EXNL-E &=AaEA 702,702
= 252,702
o= 450,000
OLNEMN BEHA XA 218,451
= 218,451
HMSAAH| (T2 =) (JIEH/DIE) 45,785 43,415 2,370
Jl2&dl 45,785 43,415 2,370
EN2Y JI2&H| 45,785 43,415 2,370
201 LErEAH| 33,785 31,415 2,370
01 AtR2t2id] 33,135 30,875 2,260
OF A2 AtR 22l 33,135
02 22294 650 540 110
ORNM2Y 33523l 650
202 O] 12,000 12,000 0
01 =2WAbI 12,000 12,000 0
OFA2E =2UHH| 12,000
MRES(ZE2WsEN) (5L NE/E2) 8,173,000 7,598,000 575,000
RS PNES 8,173,000 7,598,000 575,000
Xete & A 7,773,000 7,198,000 575,000
311 Xt 20| AHAtEt 4,373,000 3,798,000 575,000
01 Al - EXYGHE DI SIS0 KA E 2,346,000 1,900,000 446,000
©'06XIBtE SLI(XHIHEDS) 800,000
O'O7TXN"E SILI(XHIHLEIS) 1,200,000
©'08XIBtE SLI(XHIHEDIS) 346,000
06 JIEIXIZ20IKHAHE 2,027,000 1,898,000 129,000
O '8t E B (Z2Z2X2) 487,500
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